
x

y

P(x1,f(x1))
Q (x2,f(x2))

Δy

Δx

y=f(x)

lsec





x

y

P(a,f(a))
Q (x,f(x))

Δy

Δx

y=f(x)

lsec





x

y

P(a,f(a))
Q (a+h,f(a+h))

h

y=f(x)

lsec





x

y

y=f(x)

P(a,f(a))

ltan



x

y

Δy

Δx

y=f(x)

lsec

P(x1,f(x1))

Q (x2,f(x2))





x

y

Δy

Δx

y=f(x)

lsec

P(a,f(a))

Q (x,f(x))





x

y

h

y=f(x)

lsec

P(a,f(a))

Q (a+h,f(a+h))





x

y

Δy

Δx

y=f(x)

lsec

P(x1,f(x1))

Q (x2,f(x2))





x

y

Δy

Δx

y=f(x)

lsec

P(a,f(a))

Q (x,f(x))





x

y

h

y=f(x)

lsec

P(a,f(a))

Q (a+h,f(a+h))





x

y

Δy

Δx

y=f(x)

lsec

P(x1,f(x1))

Q (x2,f(x2))





x

y

Δy

Δx

y=f(x)

lsec

P(a,f(a))

Q (x,f(x))





x

y

h

y=f(x)

lsec

P(a,f(a))

Q (a+h,f(a+h))





x

y

y=f(x)

P(a,f(a))

ltan












